L. %(lnx)

Solution.

2. 4(1)

Solution.

3. L(9y/x — ")

Solution.

d ™
%(9\/5—37)—

LA
Solution.
d
5. %((COS x)")
Solution.
d
dx

Skills Test 2

MA2160 Spring 2007

Solutions
%(ln x) = i
40

(927 — 2") = =g

((cosx)™) = —7(cosx)®sin x



6. L (arctan x sin x)

dx
Solution. .
S
— (arctan zsinx) = 2T arctanz cos
x 1+ 22
7. [ € dx
Solution.
/65”3 dx e +c
5
8. [4sinz dx
Solution.

/4sinx dr = —4cosx + ¢

9. [(2+2%) do
Solution.

1 3
/<—+:r:2> dr =Inz + — + ¢
x 3

10. [ cos(5x) dx
Solution.

1
/cos(5x) dx = - sin(bzx) + ¢



